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X -'mn math import *

from matplotlib import *
from matplotlib.pyplot import *

def wvecteur(pointl, point2):
return [y - x for x, y in zip(peointl, peoint2}]

def add(wvecteurl, vecteur2):
return [x + y for x, y in zip(vecteurl, vecteur2)]

norme(vecteur):
turn sgrt({prodscal(vecteur, vecteur))

!
re

def prodscallvecteurl, vecteur2):
return sum{[x*y for x, y in zip(wvecteurl, wvecteur2)])

def determ{vecteurl, vecteur2):
return vecteurl[@]*vecteur2[1l]-vecteurl[l]*vecteur2[8]

def angle(vecteurl, vecteur2):
C us=prodscal(vecteurl, vecteur2)/(norme(vecteurl)*norme(vecteur2))

Ao

S =determi{vecteurl, vecteur2)/(norme(vecteurl)*normei{vecteur2))
return atan2{sinus,cosinus)

def rotation(u, theta):
return [u[@]*cos(theta)-u[l]l*sin(theta) ,ul®]l*sin(theta)l+ull]l*cos(theta)]

def intersectelx, y, z, t):
al = (y[11-x[11)/(y[@]-x[B])
bl = x[1]-al*x[0]
a2z = (t[11-z[11)/(tle]l-z[8]1)
b2 = z[1]-a2*z[@]
return [(b2-bl)/(al-a2),((b2-bl)/(al-a2))*al+bl]

==[8.83, 47.89]

:--- Morley-dernier.py Top L1 (Python)
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[X ==[8.83, 47.89]

b=[72.74, 8.55]
[90.72, 86.63]

C

ol

ab = vecteurlia,b) ; ac = vecteur{a,c)

ba = vecteur(b,a) ; bc = vecteur(b,c)

ca = vecteur(c,a) ; cb = vecteur{c,b)

anglea=anglelab,ac) ; angleb=anglel(bc,ba) ; anglec=anglelca,ch)

aprime = add(a, rotationiab,anglea/3.8)) ; aseconde = add(a, rotation(ab,angleaw
€*2.8/3.8))

bprime = add(b, rotation(bc,angleb/3.0)) ; bseconde = add(b, rotation(bc,angleb*®
§2.8/3.0))

cprime = add{c, rotation(ca,anglec/3.8)) ; cseconde = add{c, rotation{ca,anglec*®
%2.0/3.0))

p=intersectel(a,aseconde,b,c) ; g=intersecte(a,aprime,b,c)

r=intersectelc,cseconde,a,b) ; s=intersecte(c,cprime,a,b)

t=intersectel(b,bseconde,c,a) ; u=intersecte(b,bprime,c,a)

n=intersectela,aseconde,c,cprime)
o=intersectelc,cseconde,b,bprime)
x=intersectelb,bseconde,a,aprime)
print('Normes des cotes %3.15f '% norme(vecteur(n,o)))
Brlﬁtt'Narmes des cotes %3.15f '% norme{vecteur{o,x)))
print('Normes des cotes %3.15f '% norme(vecteur(x,n)))

fig = matplotlib.pyplot.figure()

ax = fig.add subplot(111)

matplotlib.pyplot.plot([al@],b[e],cl[8],al0]],[al1],b[1],c[1],al1]l], 'g’', alpha=0@
€.7)

matplotlib.pyplot.fill([al@],pl®],ql@]],[all],pl1],ql1]], 'g°, 2, alpha=0.4)
matplotlib.pyplot.fill([c[@],r[8],s[8]1],[cl[1],r[1],s[1]], 'g@', 2, alpha=0.4)
matplotlib.pyplot.fill([b[e],t[®8],ul®]], [b[1],t(1],ul1]1], 'g’, 2, alpha=0.4)
matplotlib.pyplet.fill([n[@],c[8]1,x[011,[n[1],0[1],x[11]1, 'g', 2, alpha=0.8)

matplotlib.pyplot.x1lim(8,168)
matplotlib.pyplot.ylimi@,108)
ax.set_aspect(’'equal’)
matplotlib.pyplot.show()

:--- Morley-dernier.py Bot L52 (Python)




